
 

95-37 / Page 1/11 

Warranty Bulletin  95-37 
Date: November 1995 
Section: 05 
Subject: MODIFICATION TO RADIATOR FAN CLUTCH CIRCUIT  
Application:  

Model VIN 

XL Series vehicles                   
equipped with a "World" transmission 

provided with a retarder 

Model Year: 1994 - 1995 - 1996  

 
 

2P9L33407R1001928 up to 2PCM33495T1025701 incl. 

H3-41 and H3-45 Series vehicles 
equipped with a "World" transmission 

provided with a retarder 

Model Year: 1994 -1995 - 1996 

 
 

2P9H33495R1001012 up to 2PCV33494T1011339 incl. 

DESCRIPTION 

Subsequent to severe road tests performed by our Engineering department, it has been concluded that it 
was advisable to increase radiator ventilation when the transmission output retarder is in operation.  
Therefore, we have modified the fan clutch circuit in order to activate the fan (first speed) as soon as the 
retarder is in operation, then the second speed after a delay of approximately 7 seconds.  Perform this 
modification according to the following procedure. 

Note:  For a better understanding, this bulletin is divided in 3 parts. 

Part A (See pages 2 to 5) 

Modification to perform on "H" series vehicles. 

Part B (See pages 6 to 8) 

Modification to perform on "XL-45' coaches" provided with a series 60 engine 
and on "XL-40' coaches" provided with a series 50 engine. 

Part C (See pages 9 to 11) 

Modification to perform on "XL-40' coaches" provided with a series 60 engine 
and on all "XL converted vehicles" (40 - 45E - 45). 

 

 

 



 

 95-37 / Page 2/11 

Part A  (Modification to perform on "H" series vehicles) 

MATERIAL 
Part No. Description Qty 
064222 Fan clutch module 1 
500883 Phillips head screw #8-32 x 3/8" 2 
500470 Lock washer #10 2 
560710 Quick connector 4 

Note: Material will be available as of January 15th , 1996 and can be obtained through regular channels. 

PROCEDURE 

Warning: Park vehicle safely, apply parking brake, stop engine and set battery master switch (use 
toggle switch inside main power compartment) to the "OFF" position prior to working on the vehicle. 

1. Open rear electric compartment door located on L.H. side of vehicle. 

2. Locate mounting panel fixed inside compartment on R.H. wall, position fan control module #064222 as 
illustrated in figure 1, then mark position of the two holes to be drilled.    

3. Drill two holes using a 9/64" (3.5 mm) diameter bit. 

Caution:  Drill only the mounting panel; do not pierce through R.H. wall. 

4. Fix fan control module to mounting panel using two Phillips head screws #500883 and lock washers 
#500470. 

 
             FIGURE 1 



 

 95-37 / Page 3/11 

 
                  FIGURE 2 



 

 95-37 / Page 4/11 

 
FIGURE 3 



 

 95-37 / Page 5/11 

5. Identify on wires provided with fan control module, the red wires #291 and #292.  Route these wires up 
to white connector C414.  Tap wire #291 with connector C414's wire #291 using quick connector 
#560710.   Repeat for wires #292.  See figure 2 (page 3). 

Note: The white connector C414 is attached with black connector C91 fixed in upper R.H. corner of 
compartment. 

6. Identify on wires provided with fan control module, the red wire #85, cut this wire near ring terminal, 
discard terminal, then route wire up to relay base R53.  Tap wire #85 with relay base R53's wire #85 
using quick connector #560710.  See figure 2. 

7. Identify on wires provided with fan control module, the black wire #OR, route this wire up to negative 
post identified "N", then connect to this post.  See view "A-A" in figure 2.  

8. Identify on wires provided with fan control module, the black wire #125W, route this wire up to relay 
base R61 then tap wire #125W with relay base R61's wire #95B using quick connector #560710.  
See the appropriate view "B-B" in figure 3 (page 4). 

Note:  Wire #95B becomes wire #125W at a connection located only a few inches away from relay base 
R61.  Consequently, new wire #125W can be connected to existing wire #125W, if preferred. 

9. Close rear electric compartment door.  

WARRANTY 
This modification is covered by the manufacturer's normal warranty. We will reimburse you the parts and 
one  hour (1.0) of labor upon receipt of a completed A.F.A. form on which you must specify as per  
"Warranty Bulletin 95-37". 
 
Expiration date:  November 1996  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 

 95-37 / Page 6/11 

Part B  (Modification to perform on "XL-45' coaches" provided with a series 60                                  
engine and on "XL-40' coaches" provided with a series 50 engine) 

MATERIAL 
Part No. Description Qty 
064222 Fan clutch module 1 
500883 Phillips head screw #8-32 x 3/8" 2 
500470 Lock washer #10 2 
560710 Quick connector 3 

Note: Material will be available as of January 15th , 1996 and can be obtained through regular channels. 

PROCEDURE 

Warning: Park vehicle safely, apply parking brake, stop engine and set battery master switch(es) to the 
"OFF" position prior to working on the vehicle. 

1. Open engine compartment rear doors, locate electric junction box, then open panel. 

2. Position fan control module #064222 as illustrated in figure 4, then mark position of the two holes to be 
drilled. 

3. Drill two holes using a 9/64" (3.5 mm) diameter bit. 

Caution:  Drill only the mounting panel; do not pierce through junction box. 

4. Fix fan control module to mounting panel using two Phillips head screws #500883 and lock washers 
#500470. 

 
         FIGURE 4 



 

 95-37 / Page 7/11 

 
          FIGURE 5 



 

 95-37 / Page 8/11 

5. Identify on wires provided with fan control module, the red wires #291 and #292.  Route these wires up 
to connector C115 following existing harnesses (see fig. 5, page 7).  Tap wire #291 with connector 
C115's wire #291 using quick connector #560710.   Repeat for wires #292. 

6. Identify on wires provided with fan control module, the red wire #85, route this wire up to post #23 
then connect to this post. 

7. Identify on wires provided with fan control module, the black wire #OR, route this wire up to post #70 
then connect to this post. 

8. Identify on wires provided with fan control module, the black wire #125W, route this wire up to relay 
base R76 then tap wire #125W with relay base R76's wire #95B using quick connector #560710. 

Note:  Wire #95B becomes wire #125W at a connection located only a few inches away from relay base 
R76.  Consequently, new wire #125W can be connected to existing wire #125W, if preferred. 
 

9. Close electric junction box then engine compartment rear doors. 

WARRANTY 
This modification is covered by the manufacturer's normal warranty. We will reimburse you the parts and 
one  hour (1.0) of labor upon receipt of a completed A.F.A. form on which you must specify as per  
"Warranty Bulletin 95-37". 
 
Expiration date:  November 1996  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 

 95-37 / Page 9/11 

Part C  (Modification to perform on "XL-40' coaches" provided with a series 60                                      
engine and on all "XL converted vehicles" (40 - 45E - 45)) 

MATERIAL 
Part No. Description Qty 
064222 Fan clutch module 1 
500386 Phillips head screw #10-24 x 1/2" 2 
500470 Lock washer #10 2 
500786 Hexagonal nut #10-24 2 
560710 Quick connector 3 

Note: Material will be available as of January 15th , 1996 and can be obtained through regular channels. 

PROCEDURE 

Warning: Park vehicle safely, apply parking brake, stop engine and set battery master switch(es) to the 
"OFF" position prior to working on the vehicle. 

1. Open engine compartment rear doors, locate electric junction box, then open panel. 

2. Position fan control module #064222 as illustrated in figure 6, then mark position of the two holes to be 
drilled. 

3. Drill two holes using a 13/64" (5 mm) diameter bit. 

4. Fix fan control module to junction box using two Phillips head screws #500386, lock washers #500470 
and hexagonal nuts #500786. 

 
                   FIGURE 6 



 

 95-37 / Page 10/11 

 
                       FIGURE 7 



 

 95-37 / Page 11/11 

5. Identify on wires provided with fan control module, the red wires #291 and #292.  Route these wires up 
to connector C115 following existing harnesses (see fig. 7, page 10).  Tap wire #291 with connector 
C115's wire #291 using quick connector #560710.   Repeat for wires #292.. 

6. Identify on wires provided with fan control module, the red wire #85, route this wire up to post #23 
then connect to this post. 

7. Identify on wires provided with fan control module, the black wire #OR, route this wire up to post #70 
then connect to this post. 

8. Identify on wires provided with fan control module, the black wire #125W, route this wire up to relay 
base R76 then tap wire #125W with relay base R76's wire #95B using quick connector #560710. 

Note:  Wire #95B becomes wire #125W at a connection located only a few inches away from relay base 
R76.  Consequently, new wire #125W can be connected to existing wire #125W, if preferred. 

9. Close electric junction box then engine compartment rear doors. 

WARRANTY 
This modification is covered by the manufacturer's normal warranty. We will reimburse you the parts and 
one  hour (1.0) of labor upon receipt of a completed A.F.A. form on which you must specify as per  
"Warranty Bulletin 95-37". 
 
Expiration date:  November 1996 



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /FRA <>
    /ENU (Use these settings to create PDF documents with higher image resolution for improved printing quality. The PDF documents can be opened with Acrobat and Reader 5.0 and later.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308000200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e30593002537052376642306e753b8cea3092670059279650306b4fdd306430533068304c3067304d307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e30593002>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


